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[ Hindi and English Medium ] 

ACADEMIC/OPEN  

(Only for Fresh/Re-appear Candidates) 

Time allowed : 3 hours ] [ Maximum Marks : 80 

• Ñ i; k tk ¡ p d j ys a fd  bl iz 'u-i= e s a eq f nz r i` " B 16    rF kk    

iz'u 21 gS aA  

Please make sure that the printed pages in this 

question paper are 16 in number and it contains 21 

questions. 

• iz'u-i=  e s a nkfgus gkF k d h v ks j fn;s x; s d k s M  uEc jd k s M  uEc jd k s M  uEc jd k s M  uEc j  rF kk ls Vls Vls Vls V  d ks 

N k= m Ù kj-iq fLr d k ds eq [ ;-i` "B  ij fy[ ks aA 

The Code No. and Set on the right side of the 

question paper should be written by the candidate 

on the front page of the answer-book. 

SET : A 
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• Ñ i; k iz'u  d k m Ù kj f y[ ku k 'k q : d ju s ls igys]  iz'u d k Ø eka d 
v o'; fy [k s aA 

Before beginning to answer a question, its Serial 

Number must be written. 

• m Ù kj-iq fLr d k d s ch p es a [k ky h iUu k / iUus u N ks Ms a +A 

Don't leave blank page/pages in your answer-book. 

• m Ù kj-iq fLr d k d s v fr fjDr d k s bZ v U; 'khV ugha fe ys xhA v r% 
v k o'; d rk uq lk j gh fy [k s a v k S j f y[k k mÙ k j u  d kV s aA 

Except answer-book, no extra sheet will be given. 

Write to the point and do not strike the written 

answer. 

• ijh{kk F kh Z v iuk  jk s y ua0  iz'u-i= ij v o '; fy [k s aA 

Candidates must write their Roll Number on the 

question paper. 

• Ñ i; k iz'u ks a d k mÙ k j ns us ls s iw oZ ;g lq fu f'pr d j y s a fd  iz'u-i=  
iw . kZ o lgh  gS]  i jh {kk  d s m ijkU r b l lEc U/k es a d k s bZ H kh  nk ok  i jh {kk  d s m ijkU r b l lEc U/k es a d k s bZ H kh  nk ok  i jh {kk  d s m ijkU r b l lEc U/k es a d k s bZ H kh  nk ok  i jh {kk  d s m ijkU r b l lEc U/k es a d k s bZ H kh  nk ok  

L o hd k j u gh a f d ; k  tk; s xk AL o hd k j u gh a f d ; k  tk; s xk AL o hd k j u gh a f d ; k  tk; s xk AL o hd k j u gh a f d ; k  tk; s xk A 

 Before answering the questions, ensure that you 

have been supplied the correct and complete 

question paper, no claim in this regard, will be 

entertained after examination. 
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uks V  %uks V  %uks V  %uks V  %         (i) l Hk h  ç 'u  v fu o k; Z gS aAl Hk h  ç 'u  v fu o k; Z gS aAl Hk h  ç 'u  v fu o k; Z gS aAl Hk h  ç 'u  v fu o k; Z gS aA  iz R;s d  iz'u  d s v a d  mlds 
l keu s n'kk Z ;s x;s gS aA 

 (ii) iz'u Ø eka d  1 e s a lks y g lks y g lks y g lks y g (i-xvi) o L rq f u"B  iz'u gS aA 
iz R; s d  iz'u ,d-,d     v ad  d k gSA iz'u (i) l s (x) r d  
iz R; s d  iz'u  d k mÙ k j , d  'kCn, d  'kCn, d  'kCn, d  'kCn  ; k ,d  o kD;,d  o kD;,d  o kD;,d  o kD;  es a 
nhf t,A iz'u  (xi) l s (xvi) rd  cgqfo d Yih; iz'u  gS aA 
iz R; s d  iz'u es a pkj fo d Yi fn; s x;s gS a ftu es a ls l ghl ghl ghl gh  
f od Yi d k p; u d h ft,A 

 (iii) iz'u Ø ek a d  2 ls 11 rd  v fr-y?k w Ù kjkR ed  iz'u  gS aA 
iz R; s d  iz'u nk s-nk s v a d ks a dk  gSA iz R;s d  iz'u  d k  m Ù kj 

, d, d, d, d  ;k  nksnksnksnks  o kD;k s a es a vF k ok dddd q N 'kCnks aq N 'kCnks aq N 'kCnks aq N 'kCnks a  es a gks u k pkf g,A  

 (iv)  iz'u Ø e ka d  12 l s 19 r d  y?k w Ù kjkR ed  iz'u gS aA 
iz R; s d  iz'u  pk j&pk j v ad ks a d k gSA iz R; s d iz'u d k 
m Ù kj yxH k x 50 ls 60 ' kCnks a es a gks uk  pkf g,A 

 (v) iz'u Ø eka d  20 o 21 fu cU/k kRe d iz'u gS aA iz R; sd 
iz'u N%&N % va d ks a d k gSA iz R;s d  iz'u d k mÙ k j yxH kx 
100 ls 150 'kCnks a esa gksu k pkf g,A 

 (vi) l Hk h fu cU/ kkR ed  iz'uks a e sa v k ar fjd  Nw V miyC/ k gSA , s ls 
iz'uk s a e s a l s v k id ks ds oy  , d  , d  , d  , d  gh iz'u  d ju k gSA 
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Note :  (i) All questions are compulsory. Marks of 

each question are indicated against it. 

 (ii) Question No. 1 has sixteen (i-xvi) 

Objective Type Questions. Each question 

is of one mark. The answer of each 

question from (i) to (x) should be given in 

one word or one sentence. Questions 

from (xi) to (xvi) are multiple choice type 

questions. Each question carries four 

options, from which choose the correct 

option. 

 (iii) Question Nos. 2 to 11 are Very Short 

Answer Type Questions. Each question is 

of two marks. The answer of these 

questions should be in one or two 

sentences or in few words. 

  (iv) Question Nos. 12 to 19 are Short Answer 

Type Questions. Each question is of four 

marks. The answer of each question 

should approximately be in 50 to 60 

words. 
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 (v) Question Nos. 20 & 21 are Essay Type 

Questions. Each question is of six marks. 

The answer to these questions should 

approximately be in 100 to 150 words 

each. 

 (vi) Internal choice is available in all essay 

type questions. You have to attempt only 

one of the given choice in such questions. 

[ o L rqf u"B  o L rqf u"B  o L rqf u"B  o L rqf u"B  iz'iz'iz'iz'u u u u ] 

[ Objective Type Questions ] 

    fu Eu fyf [k r iz'u ks a ds mÙk j , d  'k Cn , d  'k Cn , d  'k Cn , d  'k Cn ; k , d  ok D;, d  ok D;, d  ok D;, d  ok D;  es a nh ft, % 

 Answer the following questions in one word or in 
one sentence : 

  1. (i) H k kjr e s a ; ks tuk v k; ks x d h LF kk iu k d c d h  x; h F kh \  1 

  When was Planning Commission in India, 

formed ?  
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 (ii) ^ cks M ks v kU nk s yu*  f d l jkT; e s a p yk; k x;k  \ 1 

  In which State 'Bodo Movement' was 

introduced ?  

 (iii) H k kjr e s a dk S u-l k H kk" kk; h Qk ew Z yk  ykxw f d ;k  x; k gS \ 1 

  Which language formula is introduced in 

India ?  

 (iv) f d lh  , d, d, d, d  ck yd u  ns'k d k  u ke  c rk b,A 1 

  Name out any one Balkan Country.  

 (v) l ks fo ; r la ?k  d k fo ?kV u dc gqv k \ 1 

  When was Soviet Union disintegrated ?  

 (vi) l ks fo ; r la ? k d s f o? kV u d s l e; ml d k jk" Vª ifr d kS u   

F k k \ 1 

  Who was the President of Soviet Union at 

the time of its disintegration ?  
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 (vii) c ks f jl  ; s Yrf lu  d k S u F kk  \ 1 

  Who was Boris Yeltsin ?  

 (viii) c fy Z u d h nho kj d c fxjh \  1 

  When was Berlin Wall demolished ?  

 (ix) p hu  e s a ^ lkE; o knh Ø kf Ur*  d c gq bZ F kh  \ 1 

  When was Communist Revolution in China, 

took place ?  

 (x) t ula [ ; k d h  n` f"V l s fo'o es a H kkjr d k d kS u-lk LF kku   

gS \    1 

  India has which place in the world in regard 

to population ? 

 fu Euf yf[ kr c gq f od Yih ; iz'uk s a d s f n; s x;s pkj     f od Yik s a es a ls 

l ghl ghl ghl gh  fo dYi d k p;u  d js a % 

 Choose the correct option from the given four 

options of the following multiple choice type 

questions :  
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 (xi) f uEu fy f[ kr e sa ls d k S u ns'k nf{k .k  ,f 'k; k d s ns'kks a esa 

'k kfe y gS \      1 

  ¼ d ½ H kk jr  ¼ [ k½ ikfd Lr ku  

  ¼ x½ Jh ya d k  ¼ ?k ½ mijks Dr lH k h  

  Which of the following countries is included 

among South Asian Countries ? 

  (a) India (b) Pakistan 

  (c) Sri Lanka (d) All of the above 

 (xii) ^ lkd Z*  (SAARC) d h  LF k kiuk  d c gq bZ \ 1 

  ¼ d ½ 1982 es a ¼ [ k½ 1985 e s a 

  ¼ x½ 1986 es a ¼ ?k ½ 1990 e s a 

  When SAARC was formed ? 

  (a) In 1982 (b) In 1985 

  (c) In 1986 (d) In 1990 

  (xiii)or Z ek u es a ^ l kdZ* (SAARC) es a fd ru s ns'k gSa  \ 1 

  ¼ d ½ Ng  ¼ [ k½ lk r 

  ¼ x½ v kB  ¼ ?k ½ uk S 
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  At present, how many countries are there in 

SAARC ?  

  (a) Six (b) Seven 

  (c) Eight (d)  Nine 

 (xiv) ^ f'k eyk  l e> kS rk * fd u d s ch p gqv k  F k k \ 1  

  ¼ d ½ H kk jr-ph u d s ¼ [ k½ ph u-ikfd Lrk u d s 

  ¼ x½ H kk jr-ikfd Lrk u d s ¼ ?k ½ H kk jr-:l d s 

  'Shimla Agreement' was held in between 

which of the following countries ? 

  (a) India & China 

  (b) China & Pakistan 

  (c) India & Pakistan 

  (d) India & Russia 
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 (xv) H k kjr es a ^ e w yo klh * d s fy, fd l 'kC n d k iz ;k s x f d ;k 

t kr k gS \   1 

  ¼ d ½ v xM+ k o xZ  ¼ [ k½ fiNM + k oxZ 

  ¼ x½ v kf no kl h  ¼ ?k ½ lo . kZ oxZ 

  Which word of the following is used for 

'indigenous people' in India ?  

  (a) Advance class (b) Backward class 

  (c) Gipsy class (d) Golden class 

 (xvi) l u~ 2009 e s a ^ i`F o h lEe syu * fd l  ns'k esa gqv k F kk  \ 1 

  ¼ d ½  H k kjr esa ¼ [ k½ ph u es a 

  ¼ x½ u s ik y es a ¼ ?k ½ d ks is u gs xu es a   

  'Earth Summit' was held in year 2009 in 

which country of the following ?  

  (a) India (b) China 

  (c) Nepal  (d) Copenhagen 
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[ v frv frv frv fr-y ?kw Ù k jk Red  y ?kw Ù k jk Red  y ?kw Ù k jk Red  y ?kw Ù k jk Red  iz'iz'iz'iz'uuuu     ] 

[ Very Short Answer Type Questions ] 

  2. ^ gfjr Ø k fUr* d k v F kZ fy f[k,A 2 

 Give the meaning of 'Green Revolution'.  

  3. ^ fe fJr v F kZO; oLF k k* d k  D; k v F kZ gS \ 2 

 What is the meaning of 'Mixed Economy' ?  

  4. H kk jr es a [k k| la d V d s D;k ifj. kk e gq , F ks \ 2 

 What were the consequences of Food Crisis in 

India ? 

  5. us g: d h fo ns'k uh fr d s d k sbZ nksnksnksnks  mís'; fy f[ k,A 2 

 Give any two objectives of Foreign Policy of 

Nehru.  

  6. H kk jr d h nyh; O ;o LF kk  d s d k s bZ nksnksnksnks  y{k . k nh ft,A 2 

 Give any two features of Indian Party System.  
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  7. v es f jd h opZ Lo d s r h ur h ur h ur h u :i d kS u-d kS u-l s gSa \ 2 

 Which are the three types of American 

Dominance ? 

  8. f}-/kq z o h; O; o LF kk d s iru  d s dk s bZ nks nks nks nks d k j. k  f yf[ k,A 2 

 Write any two causes responsible for the decline 

of Bipolar system.  

  9. ikfd Lrku dh LFkkiuk dc gq bZ Fkh \ bldk eq[; dkj.k D;k Fkk \ 2 

 When was Pakistan formed ? Which was the 

main cause ?  

10. la ; q Dr jk "V ª la ? k (UNO) d s dks bZ nk s nk s nk s nk s m ís'; cr kb,A  2  

 Give any two objectives of United Nations 

Organization (UNO).  

11. i;kZ o j. k iz nw "k .k  d s d ks bZ nks nks nks nks dk j.k  c r kb,A 2 

 Give any two causes of Environment Pollution.  
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[ y ?kwÙkjkR ed y ?kwÙkjkR ed y ?kwÙkjkR ed y ?kwÙkjkR ed iz'iz'iz'iz'uuuu     ] 

[ Short Answer Type Questions ] 

12. jk"Vª-fu ekZ . k  d s e kxZ d h  ck/kkv k s a d k s nw j d jus ds d ks bZ pkjpkjpkjpkj  mik; 

fy f[ k,A 4 

 Write any four methods to remove the 

hindrances in the way of Nation-building.  

13. d ka xz s l ikV hZ d ks ^ Nr jh la xBu * D; ks a d gk tkr k gS \ 4 

 Why Congress Party is known as 'Umbrella 

Organization' ?  

14. fo d kl  d s fd Ugha pkjpkjpkjpkj  mís';k s a d k o. kZ u d hf t,A 4 

 Explain any four objectives of Development.  

15. 1962 d s H k kjr-ph u ; q)  d s iz eq [ k d kj. k D;k  F k s \ 4 

 What were the main causes of war between India 

& China in 1962 ?  
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16. H kk jr e s a {ks =h ;o kn d ks le kIr d ju s d s d ks bZ p kjp kjp kjp kj  l q> ko     

nhft ,A 4 

 Give any four suggestions to remove regionalism 

in India.  

17. jk"V ª h; e fgyk  v k ;k s x d s dks bZ pk jpk jpk jpk j  d k; Z fyf [k ,A 4 

 Write any four functions of National 

Commission for Women.  

18. v Urjk Z "Vª h ; U; k; ky; ij ,d  f VI i. k h fyf [k ,A 4 

 Write a note on International Court of Justice.  

19. ek uo lq j{kk  (Human Security) l s lEc fU/k r f d Ugha p kjp kjp kjp kj 

[k rjk s a ij iz d k 'k  M kf y,A 4 

 Explain any four dangers which are related to 

Human Security.  
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 [ fu c U/k kRe d  fu c U/k kRe d  fu c U/k kRe d  fu c U/k kRe d  iz'iz'iz'iz'uuuu     ] 

[ Essay Type Questions ] 

20. ^ xq Vf ujis{k  v kUnks y u*  ls v ki D;k  le >rs gS a \ bld s e q [; 

fl )k Ur ks a d k o. k Z u d js aA 6 

 What do you mean by 'Non-Aligned Movement' ? 

Explain its main principles.  

v Fkokv Fkokv Fkokv Fkok 

OR 

 xB cU /ku  ljd k j ls v k i D; k le >rs gS a \ b ld s eq [ ; y{k. k ks a 

d k o . kZ u d js aA 

 What do you mean by Coalition Government ? 

Discuss its main features.  
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21. oS'o hd j. k  d s i{k o fo i{k es a dk sbZ pk jpk jpk jpk j-pkjpkjpkjpkj  rd Z nhf t,A 6 

 Give any four points each in favour and against 

of Globalization.  

v Fkokv Fkokv Fkokv Fkok 

OR 

 oS'o hd j. k  d s m n; d s e q [; d kj. kk s a d k o. kZu  d jsaA  

 Explain the main causes for the rise of 

Globalization.  

    

ssss     
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CLASS : 12th (Sr. Secondary) Code No. 4314 
Series : SS-M/2019 

Roll No. 

jk tuhfr 'kkL=jk tuhfr 'kkL=jk tuhfr 'kkL=jk tuhfr 'kkL=     
POLITICAL SCIENCE 

[ Hindi and English Medium ] 

ACADEMIC/OPEN  

(Only for Fresh/Re-appear Candidates) 

Time allowed : 3 hours ] [ Maximum Marks : 80 

• Ñ i; k tk ¡ p d j ys a fd  bl iz 'u-i= e s a eq f nz r i` " B 16    rF kk    

iz'u 21 gS aA  

Please make sure that the printed pages in this 

question paper are 16 in number and it contains 21 

questions. 

• iz'u-i=  e s a nkfgus gkF k d h v ks j fn;s x; s d k s M  uEc jd k s M  uEc jd k s M  uEc jd k s M  uEc j  rF kk ls Vls Vls Vls V  d ks 

N k= m Ù kj-iq fLr d k ds eq [ ;-i` "B  ij fy[ ks aA 

The Code No. and Set on the right side of the 

question paper should be written by the candidate 

on the front page of the answer-book. 

SET : B 
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• Ñ i; k iz'u  d k m Ù kj f y[ ku k 'k q : d ju s ls igys]  iz'u d k Ø eka d 
v o'; fy [k s aA 

Before beginning to answer a question, its Serial 

Number must be written. 

• m Ù kj-iq fLr d k d s ch p es a [k ky h iUu k / iUus u N ks Ms a +A 

Don't leave blank page/pages in your answer-book. 

• m Ù kj-iq fLr d k d s v fr fjDr d k s bZ v U; 'khV ugha fe ys xhA v r% 
v k o'; d rk uq lk j gh fy [k s a v k S j f y[k k mÙ k j u  d kV s aA 

Except answer-book, no extra sheet will be given. 

Write to the point and do not strike the written 

answer. 

• ijh{kk F kh Z v iuk  jk s y ua0  iz'u-i= ij v o '; fy [k s aA 

Candidates must write their Roll Number on the 

question paper. 

• Ñ i; k iz'u ks a d k mÙ k j ns us ls s iw oZ ;g lq fu f'pr d j y s a fd  iz'u-i=  
iw . kZ o lgh  gS]  i jh {kk  d s m ijkU r b l lEc U/k es a d k s bZ H kh  nk ok  i jh {kk  d s m ijkU r b l lEc U/k es a d k s bZ H kh  nk ok  i jh {kk  d s m ijkU r b l lEc U/k es a d k s bZ H kh  nk ok  i jh {kk  d s m ijkU r b l lEc U/k es a d k s bZ H kh  nk ok  

L o hd k j u gh a f d ; k  tk; s xk AL o hd k j u gh a f d ; k  tk; s xk AL o hd k j u gh a f d ; k  tk; s xk AL o hd k j u gh a f d ; k  tk; s xk A 

 Before answering the questions, ensure that you 

have been supplied the correct and complete 

question paper, no claim in this regard, will be 

entertained after examination. 
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uks V  % uks V  % uks V  % uks V  %     (i) l Hk h  ç 'u  v fu o k; Z gS aAl Hk h  ç 'u  v fu o k; Z gS aAl Hk h  ç 'u  v fu o k; Z gS aAl Hk h  ç 'u  v fu o k; Z gS aA  iz R;s d  iz'u  d s v a d  mlds 
l keu s n'kk Z ;s x;s gS aA 

 (ii) iz'u Ø eka d  1 e s a lks y g lks y g lks y g lks y g (i-xvi) o L rq f u"B  iz'u gS aA 
iz R; s d  iz'u ,d-,d     v ad  d k gSA iz'u (i) l s (x) r d  
iz R; s d  iz'u  d k mÙ k j , d  'kCn, d  'kCn, d  'kCn, d  'kCn  ; k ,d  o kD;,d  o kD;,d  o kD;,d  o kD;  es a 
nhf t,A iz'u  (xi) l s (xvi) rd  cgqfo d Yih; iz'u  gS aA 
iz R; s d  iz'u es a pkj fo d Yi fn; s x;s gS a ftu es a ls l ghl ghl ghl gh  
f od Yi d k p; u d h ft,A 

 (iii) iz'u Ø ek a d  2 ls 11 rd  v fr-y?k w Ù kjkR ed  iz'u  gS aA 
iz R; s d  iz'u nk s-nk s v a d ks a dk  gSA iz R;s d  iz'u  d k  m Ù kj 

, d, d, d, d  ;k  nksnksnksnks  o kD;k s a es a vF k ok dddd q N 'kCnks aq N 'kCnks aq N 'kCnks aq N 'kCnks a  es a gks u k pkf g,A  

 (iv)  iz'u Ø e ka d  12 l s 19 r d  y?k w Ù kjkR ed  iz'u gS aA 
iz R; s d  iz'u  pk j&pk j v ad ks a d k gSA iz R; s d iz'u d k 
m Ù kj yxH k x 50 ls 60 ' kCnks a es a gks uk  pkf g,A 

 (v) iz'u Ø eka d  20 o 21 fu cU/k kRe d iz'u gS aA iz R; sd 
iz'u N%&N % va d ks a d k gSA iz R;s d  iz'u d k mÙ k j yxH kx 
100 ls 150 'kCnks a esa gksu k pkf g,A 

 (vi) l Hk h fu cU/ kkR ed  iz'uks a e sa v k ar fjd  Nw V miyC/ k gSA , s ls 
iz'uk s a e s a l s v k id ks ds oy  , d  , d  , d  , d  gh iz'u  d ju k gSA 
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4314/(Set : B) 

Note :  (i) All questions are compulsory. Marks of 

each question are indicated against it. 

 (ii) Question No. 1 has sixteen (i-xvi) 

Objective Type Questions. Each question 

is of one mark. The answer of each 

question from (i) to (x) should be given in 

one word or one sentence. Questions 

from (xi) to (xvi) are multiple choice type 

questions. Each question carries four 

options, from which choose the correct 

option. 

 (iii) Question Nos. 2 to 11 are Very Short 

Answer Type Questions. Each question is 

of two marks. The answer of these 

questions should be in one or two 

sentences or in few words. 

  (iv) Question Nos. 12 to 19 are Short Answer 

Type Questions. Each question is of four 

marks. The answer of each question 

should approximately be in 50 to 60 

words. 
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 (v) Question Nos. 20 & 21 are Essay Type 

Questions. Each question is of six marks. 

The answer to these questions should 

approximately be in 100 to 150 words 

each. 

 (vi) Internal choice is available in all essay 

type questions. You have to attempt only 

one of the given choice in such questions. 

[ o L rqf u"B  o L rqf u"B  o L rqf u"B  o L rqf u"B  iz'iz'iz'iz'u u u u ] 

[ Objective Type Questions ] 

    fu Eu fyf [k r iz'u ks a ds mÙ k j , d  'k Cn , d  'k Cn , d  'k Cn , d  'k Cn ; k , d  ok D;, d  ok D;, d  ok D;, d  ok D;  es a nh ft, % 

 Answer the following questions in one word or in 
one sentence : 

  1. (i)  H k kjr e s a dS l h v F kZ O; o LF kk yk xw d h  x;h  \ 1 

  Which Economy is implemented in India ?  
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 (ii) ^ efgyk v ks a d h ? kjs yw fga lk l s lq j{kk*  d ku wu d c ik l    

gqv k \   1 

  The 'Protection' of Women from Domestic 

Violence, when this law was passed ?  

 (iii) H k k j r  d h  f o ns ' k  u h f r  d k  e q [ ;  f u e k Z r k  f d l s  e k u k  t k r k  

g S  \    1 

  Who is known as the main founder of 

India's Foreign Policy ?  

 (iv) f }-/k q z oh ; fo'o d s iru  d k d ks bZ ,d  ,d  ,d  ,d  d k j. k  c rk b,A 1 

  Write one cause of decline of Bipolar World. 

 (v) f }-/k q z oh ; O;o LF kk  d s nkS j es a lks f o; r la ?k  e s a f d l ny  d k 

izH kq R o F kk  \   1 

  Which party was dominating in Soviet 

Union during Bipolar System ?  



 ( 7 ) 4314/(Set : B) 

4314/(Set : B)  P. T. O. 

 (vi) c ks f jl  ; s Yrf lu  d kS u F kk  \ 1 

  Who was Boris Yeltsin ?  

 (vii) c fy Z u d h nho kj d k fxjuk ] f d l c kr d k  iz r hd  F kk  \ 1 

  Demolition of Berlin Wall, what did this 

indicate ?  

 (viii) H k kjr-l ks fo ; r la ?k  d s c hp ^ fe =r k lf U/k* fd l o"k Z e s a gq bZ 

F k h \    1 

  In which year the friendly treaty between 

India & Soviet Union took place ?  

 (ix) p hu  e s a Ñ f"k  {k s = d k f uthd j.k  d c fd ;k x;k  \ 1 

  When was the privatisation of agriculture 

sector in China took place ?  

 (x) H k kjr u s ^ iw jc d h  v ks j ns [k ks* dh  u hf r d c v iuk ;h  \ 1 

  When was the policy of 'Look to East' 

adopted by India ?  
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 fu Euf yf[ kr c gq f od Yih ; iz'uk s a d s f n, x;s pkj f od Yik s a esa ls 

l ghl ghl ghl gh  fo dYi d k p;u  d js a % 

 Choose the correct option from the given four 

options of the following multiple choice type 

questions : 

 (xi) J hya d k  us fd l  o "k Z Lo rU=r k iz k Ir d h  \   1 

  ¼ d ½ 1947 es a  ¼ [ k½ 1957 e s a 

  ¼ x½ 1948 es a ¼ ?k ½ 1958 e s a  

  In which year Sri Lanka  got    

independence ? 

  (a) In 1947 (b) In 1957 

  (c) In 1948 (d) In 1958 

 (xii) v c us iky fd l iz d k j d k jk "V ª gS \ 1 

  ¼ d ½ /k eZ fu jis{k  jk" Vª 

  ¼ [ k½  e qf Lye  jk "Vª 

  ¼ x½ fgUnw jk "V ª 

  ¼ ? k½ bZ lkbZ jk"V ª 
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  Now, Nepal is what type of Nation ?  

  (a) Secular Nation (b) Muslim Nation 

  (c) Hindu Nation  (d) Christian Nation 

  (xiii) H k kjr v kS j p hu d s e /; v Urjk Z "Vª h ; lhe k js [ kk  d k Su-lh  

gS \    1 
  ¼ d ½ e Sd egks u  js [ kk 

  ¼ [ k½  js Mf Dy Q  js [ kk 

  ¼ x½ u sg: js [k k 

  ¼ ? k½ e kv ks js [k k 

   Which of the following is International 

Boundary Line between India & China ?  

   (a) McMahon Line (b) Radcliffe Line 

   (c) Nehru Line  (d) Mao Line 

 (xiv)  t kiku  d h  vF kZ O; oLF k k d k fo'o e s a d kS u-l k LF kku  gS \ 1 

  ¼ d ½ izF ke  ¼ [ k½ f} rh ; 

  ¼ x½ r ` rh; ¼ ?k ½ nlok ¡ 
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  Economy of Japan is having which place in 

the world ?  

  (a) First (b) Second 

  (c) Third (d) Tenth 

  (xv) H k kjr u s ^ D; ks V ks iz k s Vks d kWy * ij d c gLrk {kj fd , \  1 

  ¼ d ½ v xLr 1991 e s a ¼ [ k½ v xLr 2000 e s a 

  ¼ x½ v xLr 2001 e s a ¼ ?k ½ v xLr 2002 e s a 

  When was 'Kyoto Protocol' signed by India ?  

  (a) August 1991 (b) August 2000 

  (c) August 2001 (d) August 2002 

 (xvi) i; kZ o j. k  iz nw "k. k d s iz d kj d s ckjs es a l ghl ghl ghl gh  gS % 1 

  ¼ d ½ ty  iz nw "k. k ¼ [ k½ ok ;q iz nw " k. k 

  ¼ x½ /o fu  iz nw "k. k ¼ ?k ½ mi; q Z Dr l H kh  
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  Following is the right one in regard to 

Environment Pollution :  

  (a) Water Pollution (b) Air Pollution 

  (c) Noise Pollution (d)  All mentioned above 

.[ v f rv f rv f rv f r-y?k w Ù kjk R ed  y?k w Ù kjk R ed  y?k w Ù kjk R ed  y?k w Ù kjk R ed  iz'iz'iz'iz'uuuu     ] 

[ Very Short Answer Type Questions ] 

  2. H kk jr d h fo ns'k  u hf r d h d k s bZ nksnksnksnks  eq [ ; f o'k s "kr k, ¡ f yf[ k,A 2 

 Write any two main features of India's Foreign 

Policy.  

  3. fo d kl  d s eq [; mís'; D;k  gS a \ 2 

 What are the main purpose of Development ?  

  4. fo d kl  d k iw ¡ th ok nh ekW My D;k  gS \ 2 

 What is the Capitalistic Model of Development ?  

  5. H kk jr }kjk ijek. k q 'k L= cu ku s d s nks nks nks nks eq [ ; d k j.k  D; k gS a \ 2 

 What are the two main causes of making 

nuclear weapon by India  ? 
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  6. xB cU /ku  l jd kj d h dks bZ nk s nk s nk s nk s f o'k s "kr k, ¡ f yf [k ,A 2 

 Write any two features of Coalition Government. 

  7. lk sf o; r l a ?k d s ir u d s dk sbZ     nksnksnksnks  ld k jk Red  ifj. kk e fy f[ k,A 2 

 Give any two positive consequences of downfall 

of Soviet Union.  

  8. v esf jd k d s lka Ld ` f rd  opZ Lo d s d ks bZ nks nks nks nks m nk gj. k nhft ,A 2 

 Give any two examples of cultural dominance of 

America. 

  9. ^ lk d Z* (SAARC) d h  LF k kiuk  d s d k s bZ nks nks nks nks m ís'; f yf[ k,A 2 

 Write any two aims of establishment of SAARC. 

10. ges a v U rjkZ "V ª h; la xB u d h D;k sa v ko';d rk iM+ r h gS \ d ks bZ     nk snk snk snk s 
d kj. k c rk b,A 2 

 Why do we need International Organization ? 

Give any two causes.  

11.  oS'o hd j. k  d s d k s bZ nks nks nks nks v kfF kZd  izH k ko f yf [k ,A 2 

 Write any two Economic effects of Globalization.  
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[ y ?kwÙkjkR ed y ?kwÙkjkR ed y ?kwÙkjkR ed y ?kwÙkjkR ed iz'iz'iz'iz'uuuu     ] 

[ Short Answer Type Questions ] 

12. jk"V ª-fu ekZ . k  d s p kjp kjp kjp kj  c k/k d  rÙ o ks a d k o . kZ u d js aA 4 

 Explain any four hindrances in the way of 

Nation-building.  

13. H kk "kk ok n d k  v F kZ Li"V d hft ,A 4 

 Give a clearcut meaning of languagism. 

14. v PNs fu ;ks tu dh  f dUgha pkjpkjpkjpkj  fo'ks "k rk v ks a d k o .k Z u d js aA 4 

 Write any four features of Good Planning.  

15. H kk jr es a [k k| la d V d s D;k ifj. kk e gq , F ks \ 4 

 What were the consequences of Food Crisis in 

India ?  
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16. nfyr iS aF kl Z d kS u F k s \ mu d k m ís'; D; k F kk \ 4 

 Who were Dalit Panthers ? What was their 

objectives ?  

17. ^ lw p uk ds v f/kd kj* ij , d  la f{k Ir f VI i. k h fyf [k ,A  4 

 Write a short note on 'Right to Information'.  

18. fu %'kL= hd j. k d s ekxZ e s a v k us ok yh fd Ugh a p kj  p kj  p kj  p kj  iz eq[ k     le L;k vks a 

d k o . kZ u d js aA 4 

 What are the four major problems which come 

in the way of Disarmament ?  

19. la ; q Dr jk"V ª l a ?k  (UNO) d s f d Ugha p k jp k jp k jp k j  mís';k s a d k  la{k si e s a 

o. k Z u d jsaA 4 

 Explain in brief any four aims of United Nations 

Organization (UNO).  
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[ fu c U /kkR ed  fu c U /kkR ed  fu c U /kkR ed  fu c U /kkR ed  iz'iz'iz'iz'uuuu     ] 

[ Essay Type Questions ] 

20. 1990 d s c kn H k kjrh ; jk tuh fr es a mH k jr h iz o ` fÙk; ks a d k o. kZ u  

d hf t,A 6 

 Explain the emerging trends in Indian Politics 

after 1990. 

vvvv FkokFkokFkokFkok 

OR 

 'khr ; q )  ls v ki  D;k  le >r s gS a \  bld s iz e q [k  y{k .k ks a d k  

mYy s [k  d h ft,A 

 What do you known about Cold War ? Explain 

its main features.  
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21. i;kZ o j. k ls v k id k D; k v fH kiz k; gS \ i;k Z oj. k iz nw "k . k d s eq [; 

izH k ko ks a d k o . kZ u d js aA 6 

 What do you know about Environment ? Explain 

the main effects of Environmental Pollution.  

v Fkokv Fkokv Fkokv Fkok 

OR 

 oS'o hd j. k  d h  if jH k k"k k nh ft,A bld h e q [; f o'k s "kr kv ks a d k  o . kZ u  

d js aA 

 Define Globalization. Explain its main features.  

ssss     
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question paper, no claim in this regard, will be 

entertained after examination. 
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uks V  % uks V  % uks V  % uks V  %     (i) l Hk h  ç 'u  v fu o k; Z gS aAl Hk h  ç 'u  v fu o k; Z gS aAl Hk h  ç 'u  v fu o k; Z gS aAl Hk h  ç 'u  v fu o k; Z gS aA  iz R;s d  iz'u  d s v a d  mlds 
l keu s n'kk Z ;s x;s gS aA 

 (ii) iz'u Ø eka d  1 e s a lks y g lks y g lks y g lks y g (i-xvi) o L rq f u"B  iz'u gS aA 
iz R; s d  iz'u ,d-,d     v ad  d k gSA iz'u (i) l s (x) r d  
iz R; s d  iz'u  d k mÙ k j , d  'kCn, d  'kCn, d  'kCn, d  'kCn  ; k ,d  o kD;,d  o kD;,d  o kD;,d  o kD;  es a 
nhf t,A iz'u  (xi) l s (xvi) rd  cgqfo d Yih; iz'u  gS aA 
iz R; s d  iz'u es a pkj fo d Yi fn; s x;s gS a ftu es a ls l ghl ghl ghl gh  
f od Yi d k p; u d h ft,A 

 (iii) iz'u Ø ek a d  2 ls 11 rd  v fr-y?k w Ù kjkR ed  iz'u  gS aA 
iz R; s d  iz'u nk s-nk s v a d ks a dk  gSA iz R;s d  iz'u  d k  m Ù kj 

, d, d, d, d  ;k  nksnksnksnks  o kD;k s a es a vF k ok dddd q N 'kCnks aq N 'kCnks aq N 'kCnks aq N 'kCnks a  es a gks u k pkf g,A  

 (iv)  iz'u Ø e ka d  12 l s 19 r d  y?k w Ù kjkR ed  iz'u gS aA 
iz R; s d  iz'u  pk j&pk j v ad ks a d k gSA iz R; s d iz'u d k 
m Ù kj yxH k x 50 ls 60 ' kCnks a es a gks uk  pkf g,A 

 (v) iz'u Ø eka d  20 o 21 fu cU/k kRe d iz'u gS aA iz R; sd 
iz'u N%&N % va d ks a d k gSA iz R;s d  iz'u d k mÙ k j yxH kx 
100 ls 150 'kCnks a esa gksu k pkf g,A 

 (vi) l Hk h fu cU/ kkR ed  iz'uks a e sa v k ar fjd  Nw V miyC/ k gSA , s ls 
iz'uk s a e s a l s v k id ks ds oy  , d  , d  , d  , d  gh iz'u  d ju k gSA 
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Note :  (i) All questions are compulsory. Marks of 

each question are indicated against it. 

 (ii) Question No. 1 has sixteen (i-xvi) 

Objective Type Questions. Each question 

is of one mark. The answer of each 

question from (i) to (x) should be given in 

one word or one sentence. Questions 

from (xi) to (xvi) are multiple choice type 

questions. Each question carries four 

options, from which choose the correct 

option. 

 (iii) Question Nos. 2 to 11 are Very Short 

Answer Type Questions. Each question is 

of two marks. The answer of these 

questions should be in one or two 

sentences or in few words. 

  (iv) Question Nos. 12 to 19 are Short Answer 

Type Questions. Each question is of four 

marks. The answer of each question 

should approximately be in 50 to 60 

words. 
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 (v) Question Nos. 20 & 21 are Essay Type 

Questions. Each question is of six marks. 

The answer to these questions should 

approximately be in 100 to 150 words 

each. 

 (vi) Internal choice is available in all essay 

type questions. You have to attempt only 

one of the given choice in such questions. 

[ o L rqf u"B  o L rqf u"B  o L rqf u"B  o L rqf u"B  iz'iz'iz'iz'u u u u ] 

[ Objective Type Questions ] 

    fu Eu fyf [k r iz'u ks a ds mÙ k j , d  'k Cn , d  'k Cn , d  'k Cn , d  'k Cn ; k , d  ok D;, d  ok D;, d  ok D;, d  ok D;  es a nh ft, % 

 Answer the following questions in one word or in 
one sentence : 

 
  1. (i) ^ rk 'k d Un le> kS rk * fd u ns'k ks a ds e /; gqv k \ 1 

  'Tashkent Agreement' was held in between 

which countries ?  
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 (ii) H k kjr e s a dk Su-l k H kk" kk; h Qk ew Z yk  ykxw f d ;k  x; k gS \ 1 

  Which language formula is introduced in 

India ?  

 (iii) bl le ; d s Unz esa fd ld h ljd k j d k ;Z jr gS \ 1 

 

   Which Government is working at Centre 

now-a-days ?       

 (iv) f d l o "kZ e s a v k ra d ok fn;k sa u s ^ fo'o O ;kikj d s Unz* d ks 

/k jk'kk ;h  f d ;k  F kk \   1 

  In which year, 'World Trade Centre' was 

demolished by the terrorists ?  

 (v) v e s fjd k  u s fd l o "kZ es a bjkd  ij v kØ e. k fd ;k F k k \ 1 

  In which year, America attacked on Iraq ?  

 (vi) ^ d EI; w Vj ;q )*  f d l ;q )  dk s d gk  t krk  gS \ 1 

  Which war is known as 'Computer War' ?  
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 (vii) 9/11 d h ?kV uk  d s le; v e s fjd k d k jk" Vª ifr d kS u   

F k k \ 1 

  Who was the President at the time of 9/11 

incident in America ?  

 (viii) v e s fjd k  d s izF ke  v 'o s r jk"V ª ifr d k S u F ks \ 1 

  Who was the First Black President of 

America ?  

 (ix) p hu  e s a ^ [k q ys }kj d h u hfr* d h ?k ks "k . kk d c d h x; h F kh  \1 

  When was, 'Open Door Policy' in China 

introduced ?  

   (x) ^ v kfl ;k u* (ASEAN) esa fd ru s ns'k lnL; gS a \ 1 

  How many members are there in      

'ASEAN' ?  
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 fu Euf yf[ kr c gq f od Yih ; iz'uk s a d s f n; s x;s pkj     f od Yik s a es a ls 

l ghl ghl ghl gh  fo dYi d k p;u  d js a % 

 Choose the correct option from the given four 

options of the following multiple choice type 

questions : 

 (xi) H k kjr-v k fl; ku  (ASEAN) d s ch p ^ e q Dr O; kikj  

l e>k S rk * d c yk xw gqv k \     1 

  ¼ d ½ 1 fnlEc j]  2009 d ks 

  ¼ [ k½  1 tuo jh] 2010 d ks 

  ¼ x½ 1 tuo jh] 2009 d ks 

  ¼ ? k½ 1 flr Ecj] 2010 d ks 

  When was 'Free Trade Agreement' 

introduced between India & ASEAN ?  

  (a) 1st December, 2009  

  (b) 1st January, 2010 

  (c) 1st January, 2009  

  (d) 1st September, 2010 
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 (xii) t eZ u h d k , d hd j. k d c gqv k \ 1 

  ¼ d ½ lu ~ 1930 e sa 

  ¼ [ k½  lu ~ 1990 e sa 

  ¼ x½ lu ~ 1993 e sa 

  ¼ ? k½ lu ~ 1995 e sa 

  When was Germany integrated ?  

  (a) In Year 1930 (b) In Year 1990 

  (c) In Year 1993 (d) In Year 1995 

 (xiii) ; w jks ih; l a ln d k  igyk  iz R ;{k pq u ko d c gqv k  \ 1 

  ¼ d ½ lu ~ 1957 e sa 

  ¼ [ k½  lu ~ 1959 e sa 

  ¼ x½ lu ~ 1969 e sa 

  ¼ ? k½ lu ~ 1979 e sa 

  When was the First Direct Election of 

European Parliament held ?  

  (a) In Year 1957 (b) In Year 1959  

  (c) In Year 1969 (d) In Year 1979 
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 (xiv) f uEu fy f[ kr ns'kk s a e sa l s l kdZ (SAARC) d k lnL; gS % 1 

  ¼ d ½ H kk jr ¼ [ k½ ba XyS . M 

  ¼ x½ v es f jd k ¼ ?k ½ :l 

  Following is the member of SAARC 

countries : 

  (a) India (b) England 

  (c) America (d) Russia 

 (xv) 'k hr ; q )  d s nkS jku  fo'o fd r us xq Vk s a e s a c ¡ V k gqv k F k k \ 1 

  ¼ d ½ nks xq V ks a esa 

  ¼ [ k½  r hu xq Vk s a e s a 

  ¼ x½ pk j xq Vk sa  e s a 

  ¼ ? k½ m i; q Z Dr es a ls d ks bZ H kh u gh a 

  The world was divided in how many poles 

during Cold War ?  

  (a) Two Poles (b) Three Poles 

  (c) Four Poles (d) None of the above 
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 (xvi) H kkjr e s a ubZ v k fF k Zd u hf r 'kq : gq bZ % 1 

  ¼ d ½ lu ~ 1985 e sa  

  ¼ [ k½  lu ~ 1991 e sa 

  ¼ x½ lu ~ 1980 e sa 

  ¼ ? k½ lu ~ 1992 e sa 

  New Economic Policy was introduced in 

India :  

  (a) In Year 1985 (b) In Year 1991 

  (c) In Year 1980 (d) In Year 1992 

[ v frv frv frv fr-y ?kw Ù k jk Red  y ?kw Ù k jk Red  y ?kw Ù k jk Red  y ?kw Ù k jk Red  iz'iz'iz'iz'uuuu     ] 

[ Very Short Answer Type Questions ] 

  2. Lor U= rk  iz kfI r d s ckn  fo d kl d s fy, f d l iz d kj d h  

v F kZ O; o LF kk d k  p quk o fd ; k x;k  F k k \ 2 

 Which type of Economy was selected for the 

development after independence ?  

  3. fu th {ks=  esa D; k-D;k  'k kf ey gS a \ 2 

 What are included in Private Sector ?  
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  4. iks [k j.k  es a H kkjr u s ijek . kq ijh {k. k d c f d , \ 2 

 When India has done Nuclear Test at Pokhran ? 

  5. H kk jr d s d ks bZ p kjp kjp kjp kj  iM + ks lh  ns'kk s a d s uke  f yf[ k,A 2 

 Write any four names of neighbouring countries 

of  India.  

  6. ^ xBc U/ku * dk 'kk fCnd  v F kZ D ;k gS \ 2 

 What is the meaning of Coalition ?  

  7. f}-/kz q o h; f o'o d s f c[ kjko d s dks bZ nk snk snk snk s  d k j.k  fyf [k ,A 2 

 Write any two causes of disintegration of Bipolar 

world. 

  8.  fo'o d k  igyk fc tu s l Ld w y d c v k S j d gk¡ [ kks y k x;k F kk  \ 2 

 When and where the First Business School of 

the world was opened ?  

  9. ph u d h ^ [ kq ys } kj d h uh fr* d ks Li" V d js aA 2 

 Clear the meaning of 'Open Door Policy' of China.  
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10. ek uo l q j{kk (Human Security) f d ls d grs gS a \ 2 

 What do you mean by Human Security ?  

11. H kw e a Myh ; Å "e hd j. k (Global Warming) D; k gS \  2 

 What is the meaning of Global Warming ?  

[ y ?kwÙkjkR ed y ?kwÙkjkR ed y ?kwÙkjkR ed y ?kwÙkjkR ed iz'iz'iz'iz'uuuu     ] 

[ Short Answer Type Questions ] 

12. H kk jr e s a ,d  ny ds izH k q Ro d s f d Ugha p kjp kjp kjp kj  d k j. kks a d k  m Yys [k 
d js aA  4 

 Explain any four causes of One Party 

dominance in India. 

13. H kk jr h; nyh ; O; oLF k k d h  d k s bZ p kjp kjp kjp kj  f o'k s "kr k, ¡ c rk b,A 4 

 Give any four features of Indian Party System.  

14. ;k s tuk  vk ;k s x d s d ks bZ pk jpk jpk jpk j d k ;Z fy f[ k,A 4 

 Write any four functions of Planning 

Commission.  
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15. H kk jr d h fo ns'k  u hf r d s dks bZ pk jpk jpk jpk j fu /kk Z jd  r Ù o f yf[ k,A 4 

 Write any four determinative factors of India's 

Foreign Policy. 

16. tu-v k Unks yu  d h d ks bZ pk jpk jpk jpk j fo'ks "k rk ,¡ fy f[ k,A 4 

 Write any four features of People's movement. 

17. ef gy k l'kf Dr d j. k d h v ko';d rk  d s d k j. k  c rk b,A 4 

 What are the causes for the necessity of women 

empowerment ? 

18. v Urjk Z "Vª h ; fo ok nk s a d s le k/kk u d s f y, lq j{k k ifj"k n~  fd u  p kj 

rjh d ks a d k iz ;k s x d jrh  gS \ 4 

 Which four methods are used by Security 

Council for the solution of International   

Conflicts ?  

19. oS f 'od  xjhch  ij ,d  f VI i. kh  fyf [k ,A 4 

 Write a note on Global Poverty. 
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[ fu c U /kkR ed  fu c U /kkR ed  fu c U /kkR ed  fu c U /kkR ed  iz'iz'iz'iz'uuuu     ] 

[ Essay Type Questions ] 

20. xB cU /ku  l jd kj d h lQ yr k gs rq eq [ ; l q> ko ks a d k o .kZ u d jsaA 6 

 Explain the main suggestions for the success of 

Coalition Government. 

v Fkokv Fkokv Fkokv Fkok 

OR 

 lk Eiz nkf ;d r k d k D;k  v F kZ gS \ lk Eiz nkf ;d rk d s izH k ko ks a dks   

nw j d jus d s mik ;ks a d k o . kZu  d js aaA 

 What is Communalism ? Explain the remedies to 

overcome the effects of Communalism. 
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21. i;kZ o j. k iz nw "k .k  d s f y, m Ùkjnk; h rÙ o ks a d k o . kZu d jsaA 6 

 Explain the elements responsible for the 

Environmental Pollution. 

v Fkokv Fkokv Fkokv Fkok 

OR 

 i;kZ o j. k d h lq j{kk  d s f of H kUu  m ik; ks a d k o. kZ u d hft,A 

 Explain the various methods for the security of 

Environment.  

  

 

ssss     
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• Ñ i; k tk ¡ p d j ys a fd  bl iz 'u-i= e s a eq f nz r i` " B 16    rF kk    

iz'u 21 gS aA  

Please make sure that the printed pages in this 

question paper are 16 in number and it contains 21 

questions. 

• iz'u-i=  e s a nkfgus gkF k d h v ks j fn;s x; s d k s M  uEc jd k s M  uEc jd k s M  uEc jd k s M  uEc j  rF kk ls Vls Vls Vls V  d ks 

N k= m Ù kj-iq fLr d k ds eq [ ;-i` "B  ij fy[ ks aA 

The Code No. and Set on the right side of the 

question paper should be written by the candidate 

on the front page of the answer-book. 

SET : D 
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• Ñ i; k iz'u  d k m Ù kj f y[ ku k 'k q : d ju s ls igys]  iz'u d k Ø eka d 
v o'; fy [k s aA 

Before beginning to answer a question, its Serial 

Number must be written. 

• m Ù kj-iq fLr d k d s ch p es a [k ky h iUu k / iUus u N ks Ms a +A 

Don't leave blank page/pages in your answer-book. 

• m Ù kj-iq fLr d k d s v fr fjDr d k s bZ v U; 'khV ugha fe ys xhA v r% 
v k o'; d rk uq lk j gh fy [k s a v k S j f y[k k mÙ k j u  d kV s aA 

Except answer-book, no extra sheet will be given. 

Write to the point and do not strike the written 

answer. 

• ijh{kk F kh Z v iuk  jk s y ua0  iz'u-i= ij v o '; fy [k s aA 

Candidates must write their Roll Number on the 

question paper. 

• Ñ i; k iz'u ks a d k mÙ k j ns us ls s iw oZ ;g lq fu f'pr d j y s a fd  iz'u-i=  
iw . kZ o lgh  gS]  i jh {kk  d s m ijkU r b l lEc U/k es a d k s bZ H kh  nk ok  i jh {kk  d s m ijkU r b l lEc U/k es a d k s bZ H kh  nk ok  i jh {kk  d s m ijkU r b l lEc U/k es a d k s bZ H kh  nk ok  i jh {kk  d s m ijkU r b l lEc U/k es a d k s bZ H kh  nk ok  

L o hd k j u gh a f d ; k  tk; s xk AL o hd k j u gh a f d ; k  tk; s xk AL o hd k j u gh a f d ; k  tk; s xk AL o hd k j u gh a f d ; k  tk; s xk A 

 Before answering the questions, ensure that you 

have been supplied the correct and complete 

question paper, no claim in this regard, will be 

entertained after examination. 
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uks V  % uks V  % uks V  % uks V  %     (i) l Hk h  ç 'u  v fu o k; Z gS aAl Hk h  ç 'u  v fu o k; Z gS aAl Hk h  ç 'u  v fu o k; Z gS aAl Hk h  ç 'u  v fu o k; Z gS aA  iz R;s d  iz'u  d s v a d  mlds 
l keu s n'kk Z ;s x;s gS aA 

 (ii) iz'u Ø eka d  1 e s a lks y g lks y g lks y g lks y g (i-xvi) o L rq f u"B  iz'u gS aA 
iz R; s d  iz'u ,d-,d     v ad  d k gSA iz'u (i) l s (x) r d  
iz R; s d  iz'u  d k mÙ k j , d  'kCn, d  'kCn, d  'kCn, d  'kCn  ; k ,d  o kD;,d  o kD;,d  o kD;,d  o kD;  es a 
nhf t,A iz'u  (xi) l s (xvi) rd  cgqfo d Yih; iz'u  gS aA 
iz R; s d  iz'u es a pkj fo d Yi fn; s x;s gS a ftu es a ls l ghl ghl ghl gh  
f od Yi d k p; u d h ft,A 

 (iii) iz'u Ø ek a d  2 ls 11 rd  v fr-y?k w Ù kjkR ed  iz'u  gS aA 
iz R; s d  iz'u nk s-nk s v a d ks a dk  gSA iz R;s d  iz'u  d k  m Ù kj 

, d, d, d, d  ;k  nksnksnksnks  o kD;k s a es a vF k ok dddd q N 'kCnks aq N 'kCnks aq N 'kCnks aq N 'kCnks a  es a gks u k pkf g,A  

 (iv)  iz'u Ø e ka d  12 l s 19 r d  y?k w Ù kjkR ed  iz'u gS aA 
iz R; s d  iz'u  pk j&pk j v ad ks a d k gSA iz R; s d iz'u d k 
m Ù kj yxH k x 50 ls 60 ' kCnks a es a gks uk  pkf g,A 

 (v) iz'u Ø eka d  20 o 21 fu cU/k kRe d iz'u gS aA iz R; sd 
iz'u N%&N % va d ks a d k gSA iz R;s d  iz'u d k mÙ k j yxH kx 
100 ls 150 'kCnks a esa gksu k pkf g,A 

 (vi) l Hk h fu cU/ kkR ed  iz'uks a e sa v k ar fjd  Nw V miyC/ k gSA , s ls 
iz'uk s a e s a l s v k id ks ds oy  , d  , d  , d  , d  gh iz'u  d ju k gSA 
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Note :  (i) All questions are compulsory. Marks of 

each question are indicated against it. 

 (ii) Question No. 1 has sixteen (i-xvi) 

Objective Type Questions. Each question 

is of one mark. The answer of each 

question from (i) to (x) should be given in 

one word or one sentence. Questions 

from (xi) to (xvi) are multiple choice type 

questions. Each question carries four 

options, from which choose the correct 

option. 

 (iii) Question Nos. 2 to 11 are Very Short 

Answer Type Questions. Each question is 

of two marks. The answer of these 

questions should be in one or two 

sentences or in few words. 

  (iv) Question Nos. 12 to 19 are Short Answer 

Type Questions. Each question is of four 

marks. The answer of each question 

should approximately be in 50 to 60 

words. 
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 (v) Question Nos. 20 & 21 are Essay Type 

Questions. Each question is of six marks. 

The answer to these questions should 

approximately be in 100 to 150 words 

each. 

 (vi) Internal choice is available in all essay 

type questions. You have to attempt only 

one of the given choice in such questions. 

[ o L rqf u"B  o L rqf u"B  o L rqf u"B  o L rqf u"B  iz'iz'iz'iz'u u u u ] 

[ Objective Type Questions ] 

    fu Eu fyf [k r iz'u ks a ds mÙ k j , d  'k Cn , d  'k Cn , d  'k Cn , d  'k Cn ; k , d  ok D;, d  ok D;, d  ok D;, d  ok D;  es a nh ft, % 

 Answer the following questions in one word or in 
one sentence : 

  1. (i) H k kjr d h fo ns'k  uh fr d k  e q[ ; fu ek Z rk  fd ls e ku k t krk    

gS \ 1 

  Who is known as the main founder of 

India's Foreign Policy ? 
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 (ii) m Ù kjk[ k. M ] >k j[ k. M  o N Ù kh lx< + jkT; ks a d k xB u d c 

gqv k \   1  

  When the States of Uttarakhand, 

Jharkhand and Chhattisgarh were formed ? 

 (iii) : l es a lkE; o knh Ø kf Ur fdl o" kZ es a gq bZ \ 1  

  In which year the Communist Revolution 

took place in Russia ?  

 (iv) v e sfjd k  d h  vk fF k Zd  op ZLor k d ks dk S u pq u kS rh  ns jgk  gS \1  

  Who is challenging the economic 

dominance of America ?  

 (v) f o'o-O; kikj d s Unz ¼ v e s fjd k ½ ij 2001 d s v kØ e. k ds 

f y, d kS u m Ùkjnk ;h  F k k \   1  

  Who is responsible for the attack on World 

Trade Centre of America in 2001 ? 
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 (vi) l ík e gq lS u fd l o"k Z es a id M+ k x;k  F k k \ 1  

  In which year Saddam Hussein was caught ?  

 (vii) v e s fjd k  d s lk a LÑ fr d  op Z Lo d s d ks bZ nksnksnksnks  mnkgj. k nh ft,A1  

  Give any two examples of cultural 

dominance of America.   

 (viii) v e s fjd k  ij gq , v kr a d o knh ge ys d ks fd l uke  ls iqd k jk 

t kr k gS \   1   

  By which name the terrorist attack of 

America is known for ?  

 (ix) ^ ia p 'k hy  l e>k S rs* ij f d u nks         ns'kk s a u s gLr k{kj fd , \ 1  

  Which of two countries signed the 

'Panchsheel Agreement' ?  
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 (x) ^ v kfl ;k u* (ASEAN) dh LF kk iuk d c gq bZ \ 1 

  When ASEAN was formed ?   

 fu Euf yf[ kr c gq f od Yih ; iz'uk s a d s f n; s x;s pkj     f od Yik s a es a ls 
l ghl ghl ghl gh  fo dYi d k p;u  d js a % 

 Choose the correct option from the given four 

options of the following multiple choice type 

questions : 

 (xi) f uEu fy f[ kr ns'kks a esa ls ^ lkd Z* (SAARC) d k  l nL; u gh au gh au gh au gh a  
gS % 1 

  ¼ d ½ H kk jr ¼ [ k½ ikfd Lr ku  

  ¼ x½ c ka Xyk ns'k  ¼ ?k ½ ph u 

  Following is not the member of SAARC 

countries : 

  (a) India (b) Pakistan 

  (c) Bangladesh (d) China 

 (xii) ^ lkd Z*  (SAARC) d k izF ke  f'k [k j lEe s yu fu Euf yf[ kr 
ns'k e sa gqv k %   1 

  ¼ d ½ H kk jr es a ¼ [ k½ ikfd Lr ku  es a 

  ¼ x½ c ka Xyk ns'k  e s a ¼ ?k ½ Jhy a d k es a 
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  The First Summit of 'SAARC' was held in 

following country : 

  (a) In India (b) In Pakistan 

  (c) In Bangladesh (d) In Sri Lanka 

 

 (xiii) l u~ 1966 e s a Hk kjr v kS j ik fd Lr ku  d s ch p d k S u-lk  
l e>k S rk  gqv k \   1 

  ¼ d ½ yk gk S j l e>k S rk   

  ¼ [ k½  r k'kd U n le >kS r k 

  ¼ x½ f'k eyk  le> kS r k 

  ¼ ? k½ v kxjk le >kS r k 

  Which agreement was held between India 

and Pakistan in 1966 ? 

  (a) Lahore Agreement 

  (b) Tashkent Agreement 

  (c) Shimla Agreement  

  (d) Agra Agreement  
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 (xiv) ^ lkd Z*  (SAARC) d k  eq [;k y; fLF k r gS %  1  

  ¼ d ½ u bZ fnYyh  ¼ H k kjr½  e sa 

  ¼ [ k½  d jkp h ¼ ik fd Lr ku ½ esa 

  ¼ x½ d k Be kaMw ¼u s ik y ½ es a 

  ¼ ? k½ d k s yEc ks ¼ Jhy ad k½ e sa 

  The Head Quarter of 'SAARC' is situated in : 

  (a) New Delhi (India)  

  (b) Karachi (Pakistan)  

  (c) Kathmandu (Nepal)   

  (d) Columbo (Sri Lanka)  

 

 (xv) H k kjr } kjk oS'o hd j. k d k s v iu k;k  x; k %  1 

  ¼ d ½ o "kZ 1992 e s a 

  ¼ [ k½  o "kZ 1993 e s a 

  ¼ x½ o "kZ 1991 e s a 

  ¼ ? k½ o "kZ 1994 e s a 

  Globalization was adopted by India : 

  (a) In Year 1992 (b) In Year 1993 

   (c) In Year 1991 (d) In Year 1994 
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 (xvi) f o'o O;k ik j l a xB u (WTO) d h LF kk iu k d c gq bZ \ 1 

  ¼ d ½ 1 tuo jh] 1995 d ks 

  ¼ [ k½  4 fnlEc j]  1995 d ks 

  ¼ x½ 8 tuo jh] 1995 d ks 

  ¼ ? k½ 8 flr Ecj] 2000 d ks 

  When was World Trade Organisation 

formed ?  

  (a) 1st January, 1995  

  (b)  4th December, 1995 

  (c) 8th January, 1995  

  (d) 8th September, 2000 

[ v frv frv frv fr-y ?kw Ù k jk Red  y ?kw Ù k jk Red  y ?kw Ù k jk Red  y ?kw Ù k jk Red  iz'iz'iz'iz'uuuu     ] 

[ Very Short Answer Type Questions ] 

  2. fu th {ks =  D; k gS \ 2 

 What is Private Sector ?  

  3. H kk jr h; f od k l d h ; ks t uk es a lo ks Z Pp iz k F kf ed r k fdls nh t krh     
gS \  2 

 What is given main priority in the Planning of 

Indian Development ?  
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  4. H kk jr vk S j p hu   d s e/; nk s nk s nk s nk s e q [; fo ok n d kS u-ls gS a \ 2 

 What are the main two conflicts in between 

India and China ?  

  5. ^ f'k eyk  le> kS r k* d c v kS j fd ld s e/; lEiUu gqv k \ 2 

 'Shimla Agreement' was held in between which 

countries and when it took place ?   

  6. xq V-fu jis{k rk  d k  vF k Z Li"V d js aA  2 

 Give a clear meaning of Non-alignment. 

  7. r` r h; f o'o d s ns'kk s a l s v kid k D; k v fH k iz k ; gS \ 2 

 What do you mean by Third World Countries ?  

  8. f}-/kq z o h; O; o LF kk d h  d ks bZ nks nks nks nks gkf u; k¡ cr kb,A 2 

 Give any two disadvantages of Bipolar System. 

  9. ^v kf l; ku*  (ASEAN) ds d ks bZ nk s nk s nk s nk s m ís'; fyf [k ,A 2 

 Write any two objectives of 'ASEAN'. 
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10. fo'o Lo kLF ; l a xB u (WHO) d s d ks bZ nksnksnksnks  d k; Z f yf[ k,A 2 

 Write any two functions of World Health 

Organization (WHO). 

11. oS f 'od  rk io ` f)  v kS j tyok ;q if jo r Zu  d s fy , f d Ugs a m Ù kjnk;h  

ek uk  t krk  gS \ 2 

 Who are responsible for Climate Change and 

Global Warming ? 

[ y ?kwÙkjkR ed y ?kwÙkjkR ed y ?kwÙkjkR ed y ?kwÙkjkR ed iz'iz'iz'iz'uuuu     ] 

[ Short Answer Type Questions ] 

12. jk"V ª-fu ekZ . k  d s fd Ugha pkjpkjpkjpkj  rÙ o ks a d k  o . kZ u  d js aA 4 

 Write any four elements of Nation-building. 

13. yk s d rU= es a jktu hfr d  nyks a d h H k wfed k Li" V d hf t,A 4 

 Clear the role of Political Parties in Democracy. 

14. H kk jr h; xq V fu jis{kr k d h d k sbZ pk j pk j pk j pk j f o'k s "kr k, ¡ c rk b,A 4 

 Give any four features of Indian Non-alignment. 
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15. v kf F kZd  fo d kl  d s H k kjrh ; ek W My  d h  eq [ ; fo'ks "k rk ,¡ D;k  gS a \ 4 

 What are the main features of Indian Model of 

Economic Development ?  

16. ^ fp id ks v kUnks y u* d jus o kyk s a d h eq [ ; e k¡ xsa  D;k  F k ha  \ 4 

 What were the main demands of those, who 

have started 'Chipko Movement' ?  

17. ef gy kv ks a d h  l ke kft d  f LF kfr ij , d  f VI i.k h fy f[ k,A  4 

 Write a note on Social Status of Women. 

18. la ; q Dr jk "Vª d s d ks bZ pk jpk jpk jpk j  fl) kUr fyf [k ,A 4 

 Write any four principles of United Nations. 

19. la ; q Dr jk "V ª la ? k (UNO) es a H kkjr d h H kw fed k  d k  o. kZu  d jsaA 4 

 Explain the role of India in U. N. O. (United 

Nations Organization). 
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[ fu c U /kkR ed  fu c U /kkR ed  fu c U /kkR ed  fu c U /kkR ed  iz'iz'iz'iz'uuuu     ] 

[ Essay Type Questions ] 

20. H kk jr e s a xB cU /ku  d h  jktu hfr d k D;k  v F kZ gS \  xBc U/ku 

ljd kj d k  H k kjrh ; jktu hfr ij D;k izH kk o iM + k \ 6 

 What is the meaning of Coalition Politics in           

India ? What are the effects of Coalition 

Government on Indian Politics ? 

v Fkokv Fkokv Fkokv Fkok 

OR 

 xBc U/k u ljd kj d s fo fH kU u :iks a d k o .k Z u d jsaA 

 Explain the different aspects of Coalition 

Government.   
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21. H kk jr e s a i; kZ o j. k la j{k .k  lEc U/k h f d Ugha N %  N %  N %  N %  m ik ;k s a d k o . kZ u 

d hf t,A 6 

 Explain any six methods for the protection of 

Environment in India. 

v Fv Fv Fv F kokkokkokkok 

OR 

 oS'o hd j. k  d s jktu S fr d] vk fF k Zd  , o a lk a LÑ fr d  izH k ko ks a d k o. kZ u 

d js aA 

 Explain the Political, Economic & Cultural 

effects of Globalization.  

ssss     

    


